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NEW QUESTION 1
What properly needs to be set in a BOM Configuration file to ignore elements present in the BOM class but missing from the XOM?

A. ignore.MissingXomElement
B. update.ignoreDifferences
C. update.ignoreMissingXomElement
D. update.ignoreMissingBomElement 

Answer: A

NEW QUESTION 2
How would the following rule be classified?
The total insured value of the vehicle IS DEFINED AS the vehicle base value + Min (the value of vehicle accessories, 40% the vehicle base value)

A. Inference
B. Guideline
C. Constraint
D. Calculation 

Answer: D

NEW QUESTION 3
In the process of Decision Center configuration, several different security roles are defined for the Decision Center. Which group contains the correct security
roles?

A. user, adminUser, configUser
B. dcinstalled dcUser, dcAdministrator
C. rtsUser, rtsAdministrator, rtsConfigManager
D. resAdministrator, resConfigManager, reslnstaller 

Answer: A

NEW QUESTION 4
Why are synchronization connection entries useful?

A. To keep the connection open to the Decision Center database.
B. To track the state of the synchronization with Decision Center.
C. To resolve the conflicts between Rule Designer and Decision Center.
D. To enable Rule Designer to connect to Decision Center without user sec 

Answer: B

NEW QUESTION 5
Which two elements are both mandatory in the ruleset path?

A. Version
B. Ruleset name
C. Branch level
D. RuleApp name
E. Rule Project Name 

Answer: BD

NEW QUESTION 6
Which rule engine execution mode is designed to optimize a large numbers of objects?

A. Faslpalh
B. RetePlus
C. Sequential
D. Ciassic Engine 

Answer: D

NEW QUESTION 7
Which statement is true if a ruleset's XOM is based on an XML schema (.xsd file)?

A. The RuleApp can only be deployed from Rule Designer.
B. A managed XOM must be deployed to execute the ruleset.
C. The XOM can only be deployed by using the Rule Execution Server console.
D. The XML schema is packaged as a .xom file in the ruleset archive and deployed with the RuleAp

Answer: C
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NEW QUESTION 8
When creating a new metric for simulation in Decision Center, which two types are valid? (Select two.)

A. Null
B. Float
C. String
D. Domain
E. Wildcard 

Answer: AC

NEW QUESTION 9
When configuring Decision Server Rules on WebSphere Liberty Profile, which archive needs to be deployed on the application server in order to enable hosted
transparent decision services?

A. DSService war
B. HdtsService.war
C. DecisionRunner.war
D. DecisionService.war 

Answer: A

NEW QUESTION 10
What is the resulting BOM class when the following Java XOM class is imported in the rule project?
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A. Exhibit
B. Exhibit
C. Exhibit
D. Exhibit 

Answer: D

NEW QUESTION 10
Which one of the proposals is possible using the HTDS REST?

A. Filter code from the WADL
B. Inline XSDs files in the WADL
C. Outline XSDs files in the WADL
D. Query certain elements in the WADL 

Answer: A

NEW QUESTION 15
Which of the following makes a conflict when merging two branches in Decision Center?

A. When a snapshot is created in one of the branches
B. When a new ruleflow is created in one of the branches
C. When the same decision table is modified in both branches
D. When an action rule is modified from Rule Designer in one of the branches 

Answer: A

NEW QUESTION 20
Which correctly represents the deployed RuleApp ruleset path template?

A. RuleApp/RuleApp_majo
B. RuleApp_minor/Ruleset/Ruleset_majo
C. Ruleset_minor
D. RuleApp/RuleApp_minor.RuleApp_major/Ruleset/Ruleset_minor.Ruleset_major
E. Ruleset/Ruleset_majo
F. Ruleset_minor/RuleApp/RuleApp_majo
G. RuleApp_minor
H. Ruleset/Ruleset_mino
I. Ruleset_major/RuleApp/RuleApp_mino
J. RuleApp_major 

Answer: D

NEW QUESTION 22
A rule developer needs to write an action rule to apply a 20% discount to customers whose status is GOLD irrespective
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of the value of their shopping cart or SILVER when the value of their shopping cart is more that $100. Which two action rules correctly represent this business rule
scenario?

A. Exhibit: A
B. Exhibit: B
C. Exhibit: C
D. Exhibit: D
E. Exhibit: E 

Answer: BD

NEW QUESTION 23
ODM V8.9.1 is being installed on several nodes in silent mode by using a response file. What needs to be included in the response file during installation?

A. Sample server port number
B. IBM Installation Manager home location
C. Repository path for the sample server installation
D. Installed WebSphere Application Server home location 

Answer: C

NEW QUESTION 28
What is the purpose of the Decision Warehouse?

A. To store all deployed rulesets
B. To store all meta data about deployed rulesets
C. To store execution traces to monitor ruleset execution
D. To store historical changes made to rule projects so previous versions can be restored 

Answer: D

NEW QUESTION 33
What is the IlrJMXRuleAppMBean API used for?

A. To manage ruleapp project
B. To manage ruleset resources
C. To create, list, and remove RuIeApps (name and version)
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D. To create, list, and remove rulesets (name and version) 

Answer: D

NEW QUESTION 34
Which execution algorithm should be used for a rule task with rule chaining?

A. RetePlus E Fastpalh
B. Sequential
C. Working memory 

Answer: A

NEW QUESTION 39
What has to be selected or defined when running a simulation in Decision Center?

A. JDBC Connection
B. The Cluster JVM
C. Output Folder for Result
D. The Decision Runner server
E. B

Answer: E

NEW QUESTION 40
Which statement is true about the Business Console Administration tab?

A. Administration tasks can be done only in Enterprise Console.
B. Only users with "rtsAdministrator" role have access to this tab.
C. Only users with "rtsAdministrator" or "rtslnstaller" roles have access to this tab.
D. Only users with "rtsAdministrator" or "rtsConfigManager" roles have access to this ta

Answer: A

NEW QUESTION 43
What is the purpose of a RuleApp?

A. A RuleApp is a deployable management unit.
B. A RuleApp is the entry point for clients to access the business logic.
C. A RuleApp contains a single executable ruleset.
D. A RuleApp includes all that is needed by a single decision operatio

Answer: C

NEW QUESTION 46
How would the following business policy be classified? The vehicle usage MUST NOT BE Commercial

A. Calculation
B. Constraint
C. Guideline
D. Inference

Answer: C

NEW QUESTION 48
A developer needs to build an asynchronous decision service that can process extremely high transaction volume for a small input request and from an application
that is not mission critical.
Which API offers the fastest throughput, sufficient reliability, and least amount of client side development for this decision service?

A. SOAP/XML web service
B. REST/JSON web service
C. Java Message Service (JMS)
D. Remote interface of an EJB rule session 

Answer: D

NEW QUESTION 51
How many business rules are captured in the decision table below where the Customer Status and Purchase Amount are condition columns?
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A. 4
B. 6
C. 7
D. 8

Answer: A

NEW QUESTION 56
A company wants to use ODM rules for a graphical user interface (GUI) validation. They want to use rules to validate forms filled out by customers. The rules
would validate user input and answers to the questions. The users must have the ability to navigate the website while waiting for the ODM response. What
implementation should they use?

A. Implement a REST rule service in the XML format.
B. Implement a HTDS rule session to handle the request and response web service call.
C. Use an EJB rule session to handle changing the state of objects in working memory.
D. Use an asynchronous ruleset execution and an observer to end the execution or catch an exception on failur

Answer: A

NEW QUESTION 60
The project owner, Paul, asks a rule author, Bea, to update rules for the Spring release, and asks Adam to review and validate Bea's changes. After Bea finishes
her updates, she notifies Adam. Adam is unable to access the project to test the changes. What is the problem?

A. Paul forgot to assign Adam as a Tester.
B. Adam has rtsUser permissions, therefore, he cannot test rules.
C. After Bea finished her updates, she marked the status as Finished, which prevented Adam from testing.
D. Paul needed to mark Bea's updates to the Spring release as Reviewed so that Adam could see the update

Answer: B

NEW QUESTION 63
Capturing business rules involves which step?

A. Orchestrating business rules in a ruleflow.
B. Using ruleset parameters to transfer information.
C. Representing the business policy as if-then statements.
D. Packaging business logic in application code as decision servic

Answer: B

NEW QUESTION 64
What business rule application requirement would lead a Rule Developer to implement their own UrTraceDAO ,in order to create a custom DAO for storing
execution traces?

A. The business rule application must provide a full log of all the rules that were executed.
B. The business rule application must provide evidence to auditors of how decisions were made.
C. The business rule application must provide System Administrators with a way to roll back rule deployments.
D. The business rule application must provide the business users with data in the format they need for their business reports on how decisions were made .

Answer: D

NEW QUESTION 69
A large enterprise has multiple decision services from different business units using Decision Center as the source of truth to maintain their rules. Some of these
projects have customized Decision Center behaviors in order to meet business user authoring experience requirements.
What are two reasons to use Decision Center in non-production environments in order to minimize interruption to access to Decision Center for this customer?

A. To test customizations
B. To test product updates and ifixes
C. To test the behavior of large decision tables
D. To develop and encourage POCs away from production
E. To simulate new complex rule ideas away from production 
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Answer: AB

NEW QUESTION 72
How are objects removed from working memory?

A. clearObject ()
B. removeobject()
C. delete statement
D. retract statement 

Answer: C

NEW QUESTION 76
A customer has an online and batch processing application. The batch process can be executed multiple times during the day on demand and can overlap the
online application. RuleApps and rulesets are the same across online and batch. The batch application also manages big batches with high throughput.
How can this application be architected to address these requirements?

A. - Use an embedded approach for the online application and batch application to address the high throughput and change the execution units to file persistence
to simplify the deployment.
B. - Separate infrastructure from online to batch, each one configured in a separate cluster.- Configure a ruleset interceptor to route the workload between online
application execution units and batch execution units.
C. - Configure 2 clusters in the same cell where the online application is running: one cluster for the online application and a second cluster for the batch process.-
Configure the Rule Execution Server console outside of the 2 clusters to share the RuleApps across the online and batch application.
D. - Use separate infrastructure for online and batch processing.- Use managed approach with a centralized Rule Execution Server for online.- Configure a set of
J2SE RuIeApp clients to run in parallel and distribute the batch workload.- Change the Rule Execution Server and XU notification mechanism to TCP/IP to use the
same deployed RuleApps for both the batch and online application.

Answer: D

NEW QUESTION 79
A decision operation can be defined for a decision service in the Rule Designer. What can be selected in the process of creating a decision operation?

A. A ruleflow
B. A target server
C. A rule engine type
D. A dynamic domain 

Answer: C

NEW QUESTION 80
Which artifact is a supported execution object model (XOM) source?

A. C# classes
B. .JS classes
C. Cobol copybook
D. TypeScript classes 

Answer: A

NEW QUESTION 82
The screenshot below describes permissions granted to the group "Eligibility"

Which two statements are true about a user in the group "Eligibility"?

A. The user can view Queries.
B. The user can view Ruleflows.
C. The user can create Action Rules.
D. The user can update Action Rules.
E. The user can create Decision Table
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Answer: BD

NEW QUESTION 87
Ruleset parameters can be defined for a ruleset or decision service, and the parameters can have different directions such as IN, OUT, or IN_OUT. If the decision
service being invoked includes all three different types of parameters, which statement is true?

A. Only the input parameter needs to be provided in the request.
B. Only the input-output parameter need to be provided in the request.
C. Both output and input-output parameters need to be provided in the request.
D. Both input and input-output parameters have to be provided in the reques

Answer: C

NEW QUESTION 90
After a decision service is implemented in the Rule Designer, a developer would like to analyze the rule artifacts in the rule project by creating a query in the fijle
project. Which element can be found by the query?

A. Function
B. Rule task
C. Parameter
D. XOM class

Answer: B

NEW QUESTION 95
What is needed when executing a decision service by posting a REST request?

A. ruleset library
B. ruleset name
C. XOM JAR file
D. RuleApp JAR file 

Answer: A

NEW QUESTION 99
......
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